T1 83/84: Use the Calculator to Check Your Equation Solution:

Suppose you tried to solve the equation 2x = x + 3 and think the answer is
x = 3. An easy way to check to see if you have the right answer is to use
your calculator's STORE key. Here's how:

Store your answer in the variable X by pressing , then STOP|, then

, then ENTER|. Your Tl will tell you it has stored the 3 by returning

the value 3 in the next line.

Now, type the left hand side (LHS) of your ORIGINAL equation and press
ENTER|. Then, type the right hand side (RHS) of your ORIGINAL equation
and press ENTER|. Are the two results equal? Yes! That means that

x = 3 was the correct solution.
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Because both sides of the equation came out to the same number, we know
we have the correct answer.

Summary:

1) Store your answer as x.

2) Type in the left-hand side (LHS) of the ORIGINAL equation, get
an answer.

3) Type in the right-hand side (RHS) of the ORIGINAL equation,
get an answer.

4) Check that the two sides came out equal!
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Solve each equation, and check every answer on your calculator.
2(x—-1)+6x =242 -2x
Ax-2 +ox = 292-2X
—3 = 24%2~32
?2% ? Fa. ’L;‘/z
0% = 24Y
T
= 122 = 4. 3
(=22 =5
LHS= /93. 2

RHS = /?3.2. Do they match?

—
g Multiply every term by the LCD to cancel the fractions!

Lk

—_— = Lt

113 !

Sx+90 = 3(x-2D
i

S H %o

%g = ‘—._Cg
[ x= —‘—/8]

LHS = —/O

RHS = — /O Do they match? &2,5/

(You'll need parentheses when you check this on your calculator - where?)

Multiply every term by the LCD to cancel the fractions!
(po _)[ 3 (,o
20

:zo(z )— /5(33 34D

403 2 ,,%?: ey

2= 12

= /.= =
W= =35

LHS= ,OS RHS= ,O% Do they match? 5{5 /
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x?-6= 5;/
.-g} ~B R
X*-6x—6 =0
(%—6)Cx+ )= O
For your first answer: x = 6
LHS = 30 RHS = 30 Do they match? 59.5(
For your second answer: x=_— ’
LHS= =& RHS= - & Do they match? 405 g
3x—2) iZ= 28 (solve by i\/_ , don't multiply it out.
o Answer in simplified radical form.)
B(x- ay = al
A >
g > - 2..5% ‘-7-“\('7',,
. — 2’ =+17
+ + D2
xX= 247
For your first answer: x= A% JF ~ Y4.64575
(simplified radical answer) (decimal answer, don't round) f
LHS = 28 RHS= 283 Do they match? 325 -
For your second answer: x = 9-" J?: v —O HSFS
(simplified radical answer) (decimal answer, don't round)
LHS = 2293 RHS= 28 Do they match? ?2‘5 ./
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